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Question Number : 1 Question Id : 6760337839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The domain of the function

0 . S (”3] is
: S—axSa-5x "\ x+5

Options:

67603328751. L2 2

)
67603328752. L2 3

b
67603328753. \2 8

&3
67603328754. L2 4

Question Number : 1 Question Id : 6760337839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T /()= e .10g,,[“§]mm' ¢
V3-4xJ4-5x \x+5
Options :

B! E]
67603328751.L2 5

| 1
b | —
Ln | 4
—

67603328752.

>

2]
67603328753. .2 8

Bl
67603328754, L2 4

Question Number : 1 Question Id : 6760337839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

il (domain)c):’jgf(x] J 4x 4- Sx

Options :

67603328751, L2 5
67603328752. L SJ

67603328753. ( 2 8 J

67603328754.



Question Number : 2 Question Id : 6760337840 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If o, B € C are the distinct roots of the equation x* + lﬁ) x+2=0,then o' +p" is

equal to
Options :

67603328755. 16

67603328756 —16+/2

22

Lad

67603328757.

67603328758, —32v2

Question Number : 2 Question Id : 6760337840 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e o, fe C TR x + (V2 )x+2=0 SR@TAE A o' +p! WRE

Options :

67603328755. 16

67603328756. —1 62

)

242

67603328757.

67603328758, —32/2



Question Number : 2 Question Id : 6760337840 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=

J U (istinet roots) 1o AFL 37 +(V2) 1 +2=0 whle, co,BeC Sl

11 11
- £z L P . .- -
Options :

67603328755. 16

67603328756."]6“ﬁi
67603328757, 3242

67603328758, —322

Question Number : 3 Question Id : 6760337841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-
IfA=|a, a, a, | wherea) m,as, .... form a G.P. with common ratior > 1, then
& @ o

the entries in each column of A® from a G.P. with common ratio
Options :
67603328759.

67603328760. I

67603328761, 1"



67603328762.

Question Number : 3 Question Id : 6760337841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a, a, da

A A=|a, a a,| T a, . a, ... GP HE 6D 96 U >1 8, AA’ S

a, a, d,
Y% WH & 3a9d G.P. H § orge! 91 3urd 8

Options:

67603328759.
67603328760, I
67603328761, 1~

67603328762, 1°

Question Number : 3 Question Id : 6760337841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
aq 4@ K

S (VY SN T e XL LI S— (i A=| s a5 4| f

a7 dg dg
81 L(column) (¥ f 2 £ A e r>1(common ratio) ot
o s b J/'""" Ku)uj L/;.L; G. P. (entries)

Options:



67603328759. I

67603328760. r2

67603328761. T

67603328762. 1o

Question Number : 4 Question Id : 6760337842 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the system of linear equations
2x+3y-2z=0;2x-y+3z=0; Tx+Ay—z=0 has a non-zero solution (x, y, z), then

-

Xz ,
— is equal to
&
Options :

sl

67603328763. &

5
67603328764. 4

14

67603328765, 25

5

67603328766. 16

Question Number : 4 Question Id : 6760337842 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



afe Y griteo Ao

2x+3y-2z=0;2x-y+3z=0;7x+Ay—-z=0

1 U YRR 8 (x, y, 2), 8, I f; IR

Options :
-7

67603328763. 8

5
67603328764. 4

14

67603328765. 25

5

67603328766. 16

Question Number : 4 Question Id : 6760337842 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(system of linear equations) ¥ K ol L}'Jju..(/ﬁ
-~ (X, Y, Z): JP/EI/{: g 2X+3y_22:0; 2I—}’+3Z=0; 7,1;‘4-};)!—2:0

Options :

67603328763. &

3
67603328764, 4



14
67603328765, 25

d

—

67603328766. 16

Question Number : 5 Question Id : 6760337843 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The value of *C,, +) **C

r=l

0., 18 equal to

Options :

67603328767. °'Ca0
67603328768, " C20
67603328769, 2-7Cis

67603328770. "C19

Question Number : 5 Question Id : 6760337843 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10
“C,+ Y. Y C,,,, PTAM IR T

r=l)
Options :
67603328767 ' C20

67603328768. "C20

67603328769. 2 °C s



67603328770. ~'Ci9

Question Number : 5 Question Id : 6760337843 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10
w o Al 40+r -
-{_J:L-:i ------------------ ed§ TG+ Y Clo+r
F=10
Options :
51
67603328767. C20
50(11
67603328768. 20
45
67603328769. 2-7Cs

50 C
67603328770. 19

Question Number : 6 Question Id : 6760337844 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If A is the sum of even terms and B that of odd terms in the G.P.

; A
g A9, 6.343. .. having 31 terms, then E is equal to

Options:
2/3(4'°-3")

67603328771, 47 -3"

4(4|{1 _3m)

67603328772. 4" =3"



4 (4|ﬁ o 3|5 )
67603328773. 43"

2\/5[4I5_315)

67603328774.  4'°-3'°

Question Number : 6 Question Id : 6760337844 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe G.Pp.
8, 43,6, 3\/3....,FEE319e g

FUNTGFTAA q AT e HTATB &, @ % WR e

Options :

2\,@(4”’ _3m)

67603328771. 4" =3"

4 (4“’1 _ 3|I5 ]
67603328772, 47 3"

4(4Ii _3Ii)
67603328773, 4'°-3"°

2\6(415_315)

67603328774, 4°-3"

Question Number : 6 Question Id : 6760337844 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

S SBA b S U (terms) 64 31 F U 8,44B,6,343, ........ G. P.

% e P ¥ U6l (0dd) 36 B sl & (sum) P (even terms)

Options :
2@(4I6 _316]

15 .15
67603328771. 4 -3

4(416“3]6)

15 15
67603328772. 4 =3

4(415_315)
_316

67603328773.

16
67603328774, 4 =3

Question Number : 7 Question Id : 6760337845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let g=f" and f(x)= _ . 0<x<1.Then g'(x) is equal to

3

TX

Options:

67603328775. [] E (f(”) )

1

67603328776. [] +He@) )



67603328777, 1 T (&(0))

3 3
67603328778, 1 + (/ (%))

Question Number : 7 Question Id : 6760337845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g g= 77 T £7(x) = : —,0<x<1 §, Tl g'(x) SR E

1+ x

Options :
. : gyl
67603328775. ( +/() )

oy =1
67603328776, (] +(g(x) )

3
67603328777 | +(&(x))

67603328778, | + /()

Question Number : 7 Question Id : 6760337845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; 1 o
ié_ﬂglﬁ,:é .................. T‘,'qu,: lhf’(x}:“_‘r} J:jg:.f_] éu"/’
Options :

1=
(1+(f@))
67603328775.

67603328776.



(1+(2)) |

67603328777, 1 T (&)

67603328778, 1 T (/(x))

Question Number : 8 Question Id : 6760337846 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If tangents are drawn from (0, 0) to the curve y = cosx, then the points of contact of
the tangents lie on the curve

Options:
2 2 23
67603328779. X —JV =XV

2 2

67603328780, % TV =X

2 P O I
67603328781.FY —& =4V

67603328782, 1+ %)y =(1-7 )+

Question Number : 8 Question Id : 6760337846 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e a5 y = cosx W (0, 0) § T YETg Wi art €, & v eft & ¥k foig frm A &
P R E 7

Options :

3

67603328779, X — ¥ =x"y’

67603328780, X +JV =x")"



¥ .l

67603328781. Y —X¥ =X )

67603328782, (1% )" =(1-37 )’

Question Number : 8 Question Id : 6760337846 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. Ju'.;i ;&f/ (tangents) JW' 7y = cos X (curve) U/:;. (0, D)lzﬁr'ﬁ
,gb i.& ¥ L}flu’( (points of contact) bl s H_.;u/

Options:

JE S
67603328779. ¥ — VY =X

2.3 293
67603328780, X TV =XV

39
67603328781, -

o

(l +xz) 1«‘2 = (l— vz)xz
67603328782. :

Question Number : 9 Question Id : 6760337847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If one ant is moving along the curve y = x* and the other stays at the point (0, 1), then

the shortest distance between the two ants is

Options :

67603328783. '-./5



Sl

67603328784, V2

67603328785. 1

V3

67603328786.

Question Number : 9 Question Id : 6760337847 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR F T F TR, A A T y = F Y Y T9 @ T g fig
(0, ) RfRRRE ?

Options:

67603328783. \E

1

67603328784. \E

67603328785, |

-
V3

67603328786. 2

Question Number : 9 Question Id : 6760337847 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£0,1) B Welr bt ve gl g i/
=G (shortest distance) b /H KU_L{'JJ & Ur}.ﬁ 7 ;‘%" 3:



Options :

67603328783. "6

1
67603328784. V2

67603328785. 1

V3

67603328786. 2

Question Number : 10 Question Id : 6760337848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-4 sin x + 5sin(2x)
6sin x—5sin(2x)

The integral _[ dx 1s equal to

(where C 1s a constant of integration)

Options :
X x
1 2sin 5 cos -
—x+—log, - = +C
3 : i % X
2sin—+cos
67603328787. 2 2
L X
SN — COS
1 7) .
-x+—log, + &
2 . 4 X
sin — + ¢os
67603328788. P. 2
. X X
1 2sIn = —COSs =
—%+ E]og{, - i C
2sin —4cos
67603328789. 2 Z




. J
1 51N ——CO0S-

—x+—log, 2
. ]
S1n — 4+ Cos
67603328790. 2

= D | =

[

Question Number : 10 Question Id : 6760337848 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-4 sin x+ 5sin(2x) dy TR D

6sin x — 5sin(2x)

TG |

(8T C UH THTHET AR 8 )

Options :
T X
I 2sin — —¢os
-x+ 3 log, = - +C
2sIn — + Cos
67603328787. 2
I X
l SN ——Co0s
-X+ 5 log, . +C
. X X
SIn — <+ COs
67603328788. 2
- X
I 2sin — — COS
-x+—log, E 2 4C
i K X
2sin —+cos
676033287809. 2 2
— X
1 SIN——CoOs
—x+—log, e 2l
4 ok x
S11 + COs
67603328790. 2 2

Question Number : 10 Question Id : 6760337848 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

— 4sinx + 5sin(2x) g
.................. dx (i =
se4ld - 6sin x — 5sin(2x) % (tegral Jj

(-‘L (constant of integration) JL:J. UL:E‘ Cy LJL;F:)

Options :
| 2sin % - CDS%
-x + = log,. = — +C
2sin— + ¢cos —
67603328787.
. % X
1 sin e cos 2
—X¥ > log, = - 5
SIn— + COS —
67603328788. -
l 2sin :;; — COS %
-X + - log, . . +C
2sin—+ cos —
67603328789. 2
i Tk X
| sin s cos >
_I+Elﬂ-‘ée — :r+C
sin — + COS —
67603328790. 2

Question Number : 11 Question Id : 6760337849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f(1-+)'a
_[::[l —f)'1L dx

The value of

5



Options :

67603328791, 21
67603328792, 20

67603328793. |

67603328794. 12

Question Number : 11 Question Id : 6760337849 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 5y

’[”I(I -X )1 dx e

[

Options:

67603328791. 21

67603328792. 20

67603328793. 13

67603328794, 12

Question Number : 11 Question Id : 6760337849 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

s s f;(l_x3)4 dx

; X _l'é (1 —x )3 dx

Options :

20
67603328791. 21

2|
67603328792. 20

12
67603328793. 13

13
67603328794, 12

Question Number : 12 Question Id : 6760337850 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The solution of the differential equation,

? _vl=y which satisfies y(0) = 1, is
i3 y

Options :

67603328795, X —y1=y" =0
67603328796, X ty1-1" =0

67603328797, ¥V —V1—=x" =0



67603328798, 2X—\1-¥ =0

Question Number : 12 Question Id : 6760337850 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dx y
o1 gl foraes e y(0)= 18,8

Options :

—f1-3* =0
67603328795, * ~ V! TV =

67603328796. * T

67603328797, ¥ —Vl-x" =0

2 —
67603328798, 2X —\/l—=y" =0

Question Number : 12 Question Id : 6760337850 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. T
?;{:. JPK ;}i h Lo (differential equation) /sl d’j/"
b y
e e (satisfies) u“b/ f J"(O):
Options:
1—y% =0

67603328795,



4+ 41-3% =0
67603328796. F =

—Y1-x2 =0
67603328797. ¥ ~ V17X =

67603328798, 2X —V1—=1" =0

Question Number : 13 Question Id : 6760337851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If two vertices of a AABC are A(1, 1) and B(2, 3) and its area is 3 sq. units, then the
locus of the third vertex of such triangles which lie above the line AB, is

Options:

67603328799, 2x —y +5=10
67603328800, 2X ty—=5=10
67603328801, X~V —7=0

67603328802. 2x—y +7=10

Question Number : 13 Question Id : 6760337851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe TF AABC & & I A(1, 1) @41 B(2, 3) € 91 3991 &% 3 91 3515 @, ol U8
Brye, S ¥ AB & IR S, $ AR o @1 feguu @

Options:

67603328799, 2X — ¥ +5=0



67603328800. 2¥ Ty —35=10
67603328801, X~y —=T7=0

67603328802. 2x —y +7=10

Question Number : 13 Question Id : 6760337851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cr 3.4 81l Ut (vertices) J1s9 B (2, 3) 1 A (1, 1) & A 4BC 2 Ji
LABB ALY L uile A (third vertex) S AL &k 2 e
B sl u( locus é s (lie above) b (!

Options :

67603328799. 2X —y +5 =0
67603328800, 2X ty =5 =0
67603328801, 2X —y —7=0

67603328802. 2X—y + 7=0

Question Number : 14 Question Id : 6760337852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance of the point (7. 1) from the focus of the parabola x* - 8x + 16y =0 is

Options :

67603328803. 4



67603328804. 5
67603328805. O

67603328806. &

Question Number : 14 Question Id : 6760337852 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RITT x> - 8x + 16y =0 AW AT (7, H B A B

Options :

67603328803. 4
67603328804. 5
67603328805. 6

67603328806. 8

Question Number : 14 Question Id : 6760337852 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Lol € (7, )5 < (focus) oL .1'2—8:-:+I6y={) (parabola) f

Options :

67603328803, 4



67603328804, ©
67603328805, 6

67603328806. 8

Question Number : 15 Question Id : 6760337853 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the line ax + By =1 touches the ellipse a’x* + b*y* = 1, then the locus of the point

[E*E) is
22

Options:

1
67603328807. d b 2

% +_},J‘_1
67603328808. ¢~ b° 4
2 2
X };

1
67603328809. @’ b* 2

]
a5 + b2y =~
67603328810. 4

Question Number : 15 Question Id : 6760337853 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ARG x4 by = | ST 2+ 1) = | P et e, A g [%

2 |

e

Options :



67603328807. - b° 2

1
67603328808, @ b° 4

T
x y 1
67603328809. ¢~ b 2
22 .22 |1
ax +by =-—

67603328810.

Question Number : 15 Question Id : 6760337853 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 et/ ouch) U a5+ 557 =1 (llipse) §r% 0+ By =145 ]
_,,*i_ .................. i'—‘-’[flr"dllﬂcusi (%’%)

Options:
x° _1:2 1
R
67603328807, @~ b7 2
x? }}2 1
— e il
67603328808, a- b° 4

[t
o~
I
ta | —

67603328809. ¢

1
a*? + B2yt ==
4

67603328810.



Question Number : 16 Question Id : 6760337854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The image of the point (-1, 0, 0) in the plane, x — y + z + 3 = 0 lies on the plane

Options :

67603328811, 3Xx —3y—3z+7=0
67603328812, X =3y —=3z+4=10
67603328813, 0x —3y—3z+7=0

67603328814, 0x + 3y —3z+4 =10

Question Number : 16 Question Id : 6760337854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT x —y + 2z + 3= 0 W& (-1, 0, 0) P71 ufafers Ao & I frg gHaa W &7

Options :
67603328811, X —3y—=3z+7=0
67603328812, 3x —3y—3z+4=0

67603328813, 0x =3y —3z+7=0

67603328814, 6x + 3y —3z+4 =0

Question Number : 16 Question Id : 6760337854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



C/’J’ﬁ’{—df x=y+z+3=0 J#* (image) JEK (-1, 0, 0) &

Options :
67603328811, X —3¥ —3z+7=0

67603328812, X —3y—3z+4=0

67603328813, 0¥ —3y—3z+7=0

67603328814, 6x +3y—3z+4=0

Question Number : 17 Question Id : 6760337855 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let x1, xa, ....., X» be n observations and let wi=b;+k(i=1,2,........, n), where k
and / (/ >0) are some constants. If the ordered pairs (mean, standard deviation) of x;’s

and w;’s are (48, 12) and (53, 15) respectively, then % equals

Options :

67603328815, — 4

67603328816. — 2

67603328817.

67603328818. 3

Question Number : 17 Question Id : 6760337855 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 1 D& X1, X2, oo Xp QAN AR Wi =l + k(i =1,2,........, 1), TR K TUTL (1> 0)
BI5 AR 1 T x's T w,'s & e QYT A fager & Hid T A (48, 12) T

(55,15) 8 @ %w%

Options :

67603328815, — 4

67603328816, — 2

3
67603328817. 2

4
67603328818. 3

Question Number : 17 Question Id : 6760337855 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(ordered pairs) =7 V( Wi gl %'s fl e J’q'pf: [(1>0) k& LU
(55, 15) 2! (48, 12) o ﬂ@ (mean, standard deviation) (k- n..ilf" Sikes)

k

_,‘:;' Ll £ -‘r' "T"‘:‘U.?

Options :

67603328815, — 4
67603328816, — 2

67603328817.



B2 | w2

4
67603328818. 3

Question Number : 18 Question Id : 6760337856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If x, y and z are the lengths of the perpendiculars drawn from circumcentre of a

= : b -
A ABC to its sides BC, CA and AB respectively and Z- o, —=p, ‘- v, where a, b
X

y oz
- 5 I ; Japy .
and ¢ are the lengths of the sides BC, CA and AB respectively ; then is
o+p+y
equal to
Options :

67603328819, 3

67603328820. 6

67603328821. 12

67603328822. 18

Question Number : 18 Question Id : 6760337856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



afé T AABC & U= § 3@ Yasli BC, CA @1 AB TR STd ¢ AWl &1 gl
PO x, y @ 2 8 A Lo, 2=p, @ S=y ¥ ST 4=l BC, CA T AB
% ¥ z
S0Py
a+p+y

TS HA: ¢, h AT ¢ 8, ol WK ¢

Options :

67603328819. 3
67603328820. 6
67603328821. 12

67603328822. 18

Question Number : 18 Question Id : 6760337856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L AABC f; i JUJ (perpendiculars) })j...,;?ﬂL X, §, L
1 2 g{ AB »#BC, CA (W £ J! & circumcentre

,,;
5 g b
B et § AB AIBC, CA LWt .l by Ul %=a,;=ﬁ,§=v

Options :

67603328819. 3
67603328820. 6
67603328821, 12

67603328822. 18



Question Number : 19 Question Id : 6760337857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let f(x)=sin [cot" {cns(tan" r)}] be a function defined on the real line. Then the

1
value of _f(—) s

e
Options:
n—e’

67603328823, T +2¢

67603328824.

67603328825.

7 e |
me
67603328826, Tt +2¢”

Question Number : 19 Question Id : 6760337857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T Jdfere 31 R IRUIYT ®e f(x) =sin [cot']{ms(lan" t)}] Hl ;‘[?] G2l

BIEE
Options :
TEE —L’:

67603328823, Tt +2¢”



° +e°
67603328824, V1 +2¢°

n’—¢°
67603328825, V2T —e€”
ﬂzej

67603328826. T + 2¢’

Question Number : 19 Question Id : 6760337857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o 77 (veal line) & Lf:f? ik (r) =sin [cnt_] {cas(lan_l ‘r)}] J‘ B é {f/;
- n
”;L' .................. hﬂ,‘{" Ur f{—) "T';
e

Options :

2 2
67603328823. T~ +2e

67603328824.

67603328825.

67603328826. T +2¢°



Question Number : 20 Question Id : 6760337858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Boolean expression (~pv q)(pv ~ q) is equivalent to
Options :

67603328827. P = 4
67603328828.9 = P
67603328829. (P => q) V (@ = p)

67603328830. (P = q) A (4 = p)

Question Number : 20 Question Id : 6760337858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
it ool (~ pvq)a(pv~q) ﬁ'ﬂﬂ'ﬂﬁﬂ%@?ﬂ%’?

Options :

67603328827. P — 4
67603328828. 9= P
67603328829. (P=q) v(q=1p)

67603328830. (P = D A (g =p)

Question Number : 20 Question Id : 6760337858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(equivalent) b+ ¥ (~pvg)a(pv~q) (Boolean expression) Jk ﬁ:}

Options :

67603328827. P = 4

67603328828. 1 = P

67603328820, (P =>9) V(4= p)

67603328830, (P = ) A (9= D)

Mathematics Section B

Section Id : 676033300
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 676033302
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6760337859 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The total number of solutions {(x* y)ix, y€ ]R}. for which the complex numbers
3+ ix%y and x% — y — 4i are conjugate of each other, is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 6760337859 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T gl {(x.y):x, y € R}.Wﬁ‘mﬁm‘r@m + ity QA% -y — 4i T QR B
gy gaweny

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 6760337859 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
LR — (total no. of solutions) s/ JJ’U{J {[»1 yhix y € ]R}
Lo 9! P y—4i 2 3+ix? y (complex numbers) »4/ ot 2L
-/ (conjugate) ».*4,-:?1(

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 6760337860 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x-3 4x 4x
If | 4x x-3 4x | =3(Ax - B) (Ax + 3B), then (A + B) (A - B) is equal
4x 4x x-3

o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 6760337860 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
=3 4x  4dx
ag | 4x x-3 4x | =3(Ax-B) (Ax + 3B2 & @ (A + B) (A - B) WK

4x 4x x-3
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 22 Question Id : 6760337860 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
x—3 4x 4x
4x x-3 4x |=3(dx—B)(4x+3B)* /]
4x 4x x-3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 6760337861 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If A and B are respectively the coefficients of x'* and — In the expansion of
X

e ; ; :
[Zx —2—] and AB =k 2" ; where k 1s an odd integer, then m 1s equal to
=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 23 Question Id : 6760337861 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
pil]

e [zx—%]” S TR H XM au r—l” & TUIH HAL: A T4 B HR AB =k 2”8, Tl &
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 6760337861 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

| 20
JiBulA -7\ (coefficients) ...}'/c’: == sl 4 5 (ZX——IF) &4/
X

2x
SERVY.D Sy— meFe méfdﬂwk{uk AB=k2" 1l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 6760337862 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The sum of the remainders when S =3 + 6 + 12 + ... + 3-2'% is divided by 3. 4, 5 and
6 1s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 6760337862 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
S=3+6+12+ .. +329F3. 4,536 T fauicid o W 3T I9Bal BT T
g .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 6760337862 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 6760337863 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) of
If for a real function f; f(1)=3 and f'(I)=1, then Iimﬁ is equal

= (x-1)

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 6760337863 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

afe U arafa® wed f F W 7(1)=3 au1 /') =1 g @

_)[1.'—IJ'| _ .
i = f(x)
sl (I_' = I)

Response Type : Numeric

TR E

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 25 Question Id : 6760337863 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
- f'(l)‘:] Il f(l):32. Lf (real function) J‘Lr: Jﬁf’ﬁ
x-1
o AL s lim 3‘5’(1 )“f(ff)

e x=1 (x—l]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 6760337864 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the region bounded by the curves, y=1+ — |2x-a |, x=-3,x =3,

D | —

y=0, where a€ (-3, 3), is 16 square units, then &’ is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 6760337864 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 "
M y=1+ 5 12x-alx=-3,x=3qy=0,Wlae (-3, 3), g1 O &7 &1 &ma

16T 3P ¢, A > WeR & :



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 6760337864 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ixn L/fz;._;j Z,y:l+%|2x—a|,x:—3,x:3,y:0 (curves) f

.................. 2o ae(-33) LUg < JK! d’/ 16 . § (region bounded)

¥

- 44 il

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 6760337865 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If PA and PB are the tangents to the circle, x*+y* =13, drawn from a point

5

Response Type : Numeric

p[ﬁ %] and A and B are the points of contact, then (AB)" is equal to

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 6760337865 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
afe fag P[%} '?J] YT« + )" =13, W T T8 WY @I PA TUTPB § G A 3R
B Uua fig &, ol (AB)® &R @ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 6760337865 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: ; 15 139 o £
;L{ PB »sl PA (tangents) :}fn{ ¥ +yP=13/h e P(? ?j 5l
— (AB)(” < (¢ (points of contact) JWI1 b6 B sl AUV Ui £

-& 4l

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 28 Question Id : 6760337866 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The distance of the point of intersection of the lines 2= :% and
from the plane 2x—-y+2z=7is

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 6760337866 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AT 2x-p+2z=7 @l — =2 == qqr

1 - 1
e :
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 6760337866 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Y el g% vl 2z
2 =2 -1 -1 1
SR oo e x-y+2z=T (plane) ($# b

Response Type : Numeric

§ (point of intersection) ) S L ?:

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 6760337867 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let =2 - 7)- Ok, b=3+ 8+ 10k , c=fi+ J +k. Ifa vector ?7 is perpendicular
to both c: and f; };: =20, ;(:-;-k): 12, then *f" 1s equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 6760337867 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WAl a=2i-7]-9%, b=31+8]+10k T c =ti + j+k BI IR W IRW p, a T
b SNRAEE, p-c =207 p-(?—_}—fE):lz 2. TRE

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 6760337867 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

# —3 A A A = A A A = AN A v, &
M 2221779k 5 =31 487 +10k c =11+ j+k & S

-

= fA A A

s pli-j—k|=12

—
u.:f 0=

_‘; L
«p-c=20 ;rf,_; Jo E; 2! Q:; (vector)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 6760337868 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let S = {a €N | there exists \,p€Z such that Aa’ +pa+61=1}. If p is the
probability that a randomly selected 2-digit number is an element of S, then 48p is
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 30 Question Id : 6760337868 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
oAl S={acN| \l,pecZ & 3iRq@ g, & Ao’ +pa+6i=1§} I @

TRfda: T T8 2-31) B T F S F U 3aud g1 P Wi p 8, @ 48p W &

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 6760337868 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S ={a € N|there exists A, L € 7such that \a® + pa+6L=1) é;ﬁ/‘

-

SeSFL ¥ 89 2 m fi2 & oy e L8/
Y7 p— 48 p < - P (probability) J¢*!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Aptitude Test

Section Id : 676033301
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 676033303
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6760337869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which temple complex is famous for its musical pillars ?

Options :
67603328841, Meenakshi Temple

67603328842, Brihadeshwara Temple

67603328843, Hampi

67603328844. Rameshwaram

Question Number : 31 Question Id : 6760337869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
= o ® @ R uREy d@iia e & fog ufee B o7
Options :

67603328841, ATl HfeT

67603328842, JEGHT HiGT

67603328843, ]|

67603328844, THIAT]

Question Number : 31 Question Id : 6760337869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

< mﬁ’zglf-“{?fr eV s VS

Options :

67603328841, 4~ O *

67603328842, /4~ 13\ 4

67603328843, 5

Ay
67603328844, r.

Question Number : 32 Question Id : 6760337870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following material is most suitable for parking areas ?
Options :

67603328845. Concrete
67603328846. Wood
67603328847, Marble

67603328848. Kota stone

Question Number : 32 Question Id : 6760337870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= ¥ ¥ BF °1 9 9ieT 8T % a0 g9y Sifte Iuged & ¢

Options :

67603328845, Wilche
67603328846, THS

67603328847, A&

67603328848, HIZT &I

Question Number : 32 Question Id : 6760337870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e wrirmlic ord Lk BNSukzsie Ut

Options:

67603328845, i{ﬁ



N
67603328846. U;

67603328847. // L

s

“¥ I
67603328848. /{ v

Question Number : 33 Question Id : 6760337871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who 1s known as ‘Queen of Curves’ in Architecture ?

Options :

67603328849, Jeanne Garg

67603328850, Jane Drew

67603328851, ullia Morgan

67603328852. Zaha Hadid

Question Number : 33 Question Id : 6760337871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e & & P8 ‘®d o TAY % B9 H A S 7

Options :

67603328849, S U

67603328850, 11 159,



67603328851. ﬂﬁl T A

67603328852, =&l I

Question Number : 33 Question Id : 6760337871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ve s rLZ: ‘L‘}f...;ru::(”ufc_, S
Options :

g F
67603328849. ""Ofdf

b
67603328850, 143 &

67603328851. L'/i” <8

67603328852, 4~ W»J

Question Number : 34 Question Id : 6760337872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Venn diagram correctly illustrates the relationship
among the class : Cement, Structure, Concrete ?

Options:

67603328853. @)



67603328854. @

67603328855.
67603328856. @

Question Number : 34 Question Id : 6760337872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 o ¥ BF WA s g, i, a9l % A ey & @l w9 H g
T 7

Options :

67603328853. @)
67603328854. @

67603328855.
67603328856. @

Question Number : 34 Question Id : 6760337872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



S bW BL ot Ghet o Fews U st UG g

Options :

67603328853. @)
67603328854. @
67603328855.

67603328856. z

Question Number : 35 Question Id : 6760337873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Rings in a tree trunk represents -

Options :
67603328857. Defects
67603328858, AL

67603328859, Strength

67603328860. Weakness

Question Number : 35 Question Id : 6760337873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
uH U3 & o+ o for foew @t qerfar 7 7

Options:

67603328857. aiz !

67603328858, 13
67603328859, TThd

67603328860. HHAI

Question Number : 35 Question Id : 6760337873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ﬁ : 1 -
V1 "—-/’/L.‘?-*:‘,L"Jﬁ U’Kﬁ?’i-ﬁ e (Sl 230

Options :

A J' -
67603328857. L}’?

67603328858. /

67603328859, =¥

67603328860. ‘-5"’/

Question Number : 36 Question Id : 6760337874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Saint Gobin in Indian Market is known for which of the following product ?



Options :
67603328861. Wooden doors

67603328862. (ilass
67603328863. Modular kitchens

67603328864. Wire cut bricks

Question Number : 36 Question Id : 6760337874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TR 9T 3 He M a5 9 g g & oo e w0 ® 7
Options:

67603328861, WHel & AT

67603328862, &Id

67603328863. ERR R

67603328864, T T 32

Question Number : 36 Question Id : 6760337874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B T ¢ ’(‘ L L20
?;T_.J!P"ch-é‘:/gu/d:;f;l;dvjﬁ{ U8 S 4

Options :

67603328861, 741142 Kdﬂ



&
67603328862, ~~=

S ok
67603328863, & “4*

67603328864, (&%!) u’-i: 2

Question Number : 37 Question Id : 6760337875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Indian parliament building was designed by which Architect ?

Options :

67603328865. Herbert Baker
67603328866. B. V. Doshi

67603328867, Raj Rewal

67603328868, Sanjay Puri

Question Number : 37 Question Id : 6760337875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R G698 999 %l wui@r fhe angfyedt ¥ aar off ?

Options:

67603328865, Bd< BT

67603328866, 9. dI. TIsh



67603328867, TT& {dTe

67603328868, T8 T

Question Number : 37 Question Id : 6760337875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

?'T"' Qb L—JL“"J&JU\L‘H{J& =y
Options:

67603328865. k& —

?+ Jiﬁ: e JL}’J(#JLf'—"-;‘fJ& {}LHFE

67603328866.

67603328867. ‘-J{i"’ cl

. z
67603328868, O =

Question Number : 38 Question Id : 6760337876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following material cannot be recycled ?

Options :
67603328869, (ilass

67603328870. Terracota

67603328871. Steel



67603328872, F'aper

Question Number : 38 Question Id : 6760337876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= F ¥ e o*g @B 9 e (Ramaea) & e s daar ?
Options :

67603328869, BId
67603328870, XTI
67603328871, WIe

67603328872, 1T

Question Number : 38 Question Id : 6760337876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R E S I £z e A

Options :

4.‘-‘.
67603328869, ~~%

]
"3
67603328870.Lﬁf"I

-]
67603328871. 'J:"i

67603328872, 4§



Question Number : 39 Question Id : 6760337877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of conventional brick ?
Options :

67603328873. 230 mm x 115 mm = 70 mm

67603328874. 230 mm = 110 mm x 75 mm

67603328875. 230 mm * 115 mm = 75 mm

67603328876. 230 mm = 110 mm x 65 mm

Question Number : 39 Question Id : 6760337877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
URUN® 3¢ B AR 7/ & § B a1 § 7

Options :
67603328873, 230 mm = 115 mm = 70 mm
67603328874. 230 mm = 110 mm x 75 mm

67603328875. 230 mm = 115 mm x 75 mm

67603328876. 230 mm x 110 mm = 65 mm

Question Number : 39 Question Id : 6760337877 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Ce bt St KU Gl

Options :

x

67603328873, 230 mm 115 mm x 70 mm

*

67603328874, 230 mm 110 mm x 75 mm

X

67603328875. 230 mm 115 mm = 75 mm

X

67603328876. 230 mm 110 mm = 70 mm

Question Number : 40 Question Id : 6760337878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following site listed as the 15t UNESCO world heritage site in
[ndia ?

Options:

67603328877. Bhimbetta Caves

67603328878, Ajanta Caves

67603328879, Jaipur City

67603328880, Hlampi

Question Number : 40 Question Id : 6760337878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1 9 & @ a1 W@ 9a § tean gl [Ovg aiE we § 7
Options :

67603328877, 111 T @l J%1g

67603328878, 1! &l NEIL

67603328879, S1A3 ¢ MET

67603328880, THT

Question Number : 40 Question Id : 6760337878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(b G h) 2 36 du ONESCOV W8 o S ekt = U o
te e erdd

Options :

67603328877. L“‘f w

67603328878, b Ca!
67603328879, £ 4 &

67603328880. 5

Question Number : 41 Question Id : 6760337879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following scale represents the enlargement scale ?



Options :

67603328881.1 : 2
67603328882.1 : 20
67603328883. 50 : 1

67603328884.1 : 1

Question Number : 41 Question Id : 6760337879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
=1 8 9§ &F ' fmEn, fowar & e @ gaiar 77

Options :

67603328881.1 : 2
67603328882. 1 : 20
67603328883.50 : 1

67603328884, 1 : 1

Question Number : 41 Question Id : 6760337879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= LJJ‘(,.rE:', 1% e e U L_,J.!’E:, !
Options :

67603328881.1 : 2



67603328882.1 : 20
67603328883. 50 : 1

67603328884.1 : 1

Question Number : 42 Question Id : 6760337880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Meerabai temple is located at which of the following fort ?

Options :

67603328885, Jaigarh fort

67603328886. Chittor fort

67603328887, Nahargarh fort

67603328888. Jhansi fort

Question Number : 42 Question Id : 6760337880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 5 & fpm fobet o A dfer R 2 7
Options :

67603328885, STATTG I Tehall

67603328886. IaEi[E_ @l fehe

67603328887, TET TG I Tebel



67603328888, Al T fehelm

Question Number : 42 Question Id : 6760337880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- - -

o o -

Options :

B
67603328885. dole

- 5 P
67603328886, ~° J #>

- i = -
67603328887, 27N

67603328888, 4 Kb‘)b’i?

Question Number : 43 Question Id : 6760337881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
First Architecture college in Asia is located in which city ?

Options:
67603328889, 10kyo

67603328890. Mumbai

67603328891. Lahore



67603328892, Shanghai

Question Number : 43 Question Id : 6760337881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ufdran § vewr angRied wiee e st ¥ Rug & 7
Options :

67603328889, 2Iadl

67603328890. g é

67603328891. AT

67603328892, ¢ lé

Question Number : 43 Question Id : 6760337881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
B

67603328889. oy

"
67603328890. LSJ

67603328891, 4 U

1 L
67603328892. LSL}



Question Number : 44 Question Id : 6760337882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
*Atal Tunnel” is located in which state of India ?
Options :

67603328893. Uttarakhand
67603328894. Jammu Kashmir
67603328895, Punjab

67603328896. Himachal Pradesh

Question Number : 44 Question Id : 6760337882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘3T 2 U & fhe g W Rem ¥ 7
Options :

67603328893, SAUETS
67603328804, T3 B

67603328895, UaT

67603328896, TEHTAd Wa9T

Question Number : 44 Question Id : 6760337882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T 94O, JKJ{_‘)L':"JJ;‘E ‘LF/J:”
Options :

b na
67603328893, 47171

-
67603328894, /{‘; Uss

67603328895. —

-
67603328896, J’{: S

Question Number : 45 Question Id : 6760337883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

Options :

67603328897.

67603328898.




67603328899.

67603328900.

Question Number : 45 Question Id : 6760337883 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D ey ¥ Uk 9% % U €99 1 fowmn mr ¥ 1 AR @ foan ¥ dwd gu, v e
P T APRA A § TEAH |

Options:

67603328897.

67603328898.

67603328899.



67603328900.

Question Number : 45 Question Id : 6760337883 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(Ve HPEIBL 7 e §8hr (BN 3 ik 8 G )
\ g_v; Ev'/a..fLE] g

Options :

67603328897.

67603328898.

67603328899.

67603328900.



1

Question Number : 46 Question Id : 6760337884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct Top view from
the answer figures.

Options :

67603328901.

67603328902.

67603328903.

67603328904.




Question Number : 46 Question Id : 6760337884 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D omfel ® U oG & Th €99 B e T ¥ | S W S €99, T Aphed
4§ wedi |

Options:

67603328901.

67603328902.

67603328903.

67603328904.




Question Number : 46 Question Id : 6760337884 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S o St B ¥ JTOUE (BT 2 Lt Pt

Options:

67603328901.

67603328902.

67603328903.

67603328904.

Question Number : 47 Question Id : 6760337885 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

i
g

Options :

67603328905. |

67603328906.

67603328907. |

67603328908. |

Question Number : 47 Question Id : 6760337885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

3D agfa § U a%] & UH 259 @ fowan wr | A% B fn A <wd gu 9@ e
P IO AR ¥ § @AY |

B
A

Options :

67603328905, |

67603328906.

&
&
£
&
#

67603328907. l

67603328908 |

Question Number : 47 Question Id : 6760337885 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



E¥e SpSuBL e § 86 (BN 2 it 19 St o
Gy L

e
g

i

Options :

67603328905, |

67603328906.

s
s
.
&
&

67603328907. |

67603328908. |

Question Number : 48 Question Id : 6760337886 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

/

Options:

67603328909.

67603328910. |

67603328911.

67603328912.

Question Number : 48 Question Id : 6760337886 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D gl ¥ UF % F TH €99 HI @ T E | AR H R ¥ d@d gu 6 2
F TR A F § gear |

Options:

67603328909.

67603328910. |

67603328911.

67603328912.

Question Number : 48 Question Id : 6760337886 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



E¥ne SPEUBL 7 e § 05 (BN g Lt 1P 8m v
?Ks’fgulb'}

Options:

67603328909.

67603328910. |

67603328911.

67603328912.

Question Number : 49 Question Id : 6760337887 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct Top view from
the answer figures.

Options :

67603328913.

67603328914. /

67603328915. /

67603328916.

Question Number : 49 Question Id : 6760337887 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D gt ¥, U aw] % U 299 B T T ¥ | SHBT FE HUL €9, AL APHd
4 ¥ wede |

Options:

67603328913.

67603328914, /

67603328915. /

67603328916.

Question Number : 49 Question Id : 6760337887 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



¥t SPEBL 7 e § 8 (LB g ik P v
¢ gy y/wl!ﬁ

Options :

67603328913, /

67603328914. P

67603328915. /

67603328916.

Question Number : 50 Question Id : 6760337888 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

Options :

67603328917.

67603328918.

67603328919.

67603328920.



Question Number : 50 Question Id : 6760337888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D sty #, Th 96 ® TH 59 B fewmEn @y | A B fen ¥ g, W e
P T AFA F F @AY

Options :

67603328917.

67603328918.




67603328919.

67603328920.

Question Number : 50 Question Id : 6760337888 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E¥vic PEUBL 7 §66 (BN 2 Lt sl o
?bﬁj’fgwlﬁj

Options :

67603328917.



67603328918.

67603328919.

67603328920.

Question Number : 51 Question Id : 6760337889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

Options :



67603328921.

67603328922.

67603328923.

67603328924.

Question Number : 51 Question Id : 6760337889 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D amgfer & U 9% % T 25y @l fewmr @ g | A @ feon § Ywd g, w6 e
® T ARl H ¥ GEE |

Options :



67603328921.

67603328922.

67603328923.

67603328924.

Question Number : 51 Question Id : 6760337889 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E¥uie SPuBL 7 e 868N g LIt i
¢ 6n Lol




Options :

67603328921.

67603328922.

67603328923.

67603328924.

Question Number : 52 Question Id : 6760337890 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

Options:

67603328925, |

67603328926. |

67603328927. l

67603328928.

Question Number : 52 Question Id : 6760337890 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D ogit ¥ UH a% & UH €99 B @ T E | WX B 9 § @ 5, W e
F T AHE § § UEErH |

Options :

67603328925. l

67603328926. |

67603328927. |

67603328928.

Question Number : 52 Question Id : 6760337890 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



E¥pie SPSUBL 7 e § 0 (BN g it P8 o
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Options:

67603328925, |

67603328926. I

67603328927. |

67603328928.

Question Number : 53 Question Id : 6760337891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view from
the answer figures.

—aii
.-—"

Options :

676033289209, L1

67603328930, L |

67603328931, L1

67603328932, | EE—

Question Number : 53 Question Id : 6760337891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D i H, T T & U £99 B @ T 7 | SHA e HUL €99, TAL G
¥ ¥ eay |

i
.--"'

Options:

676033289209, | P

67603328930, L |

67603328931, L

67603328932. L 1

Question Number : 53 Question Id : 6760337891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Cr ol Sl e U e § U5 (LB 2 Ll Ut 8 S o

Options :

67603328929. |

67603328930, L— |

67603328931, L |

67603328932. I

Question Number : 54 Question Id : 6760337892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct L.H.S. view,
from the answer figures.

.—'"

LHS
Options :

|
67603328933.

I
67603328934,

]

67603328935.
67603328936. :|

Question Number : 54 Question Id : 6760337892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D ol ¥, T g b Th €97 1 fmmn mn ¥ | soen e ae @ 9e eed, S
piadl ¥ ¥ A |

.-"

LHS
Options:

I
67603328933.

I
67603328934.

|

67603328935.
67603328936. ]

Question Number : 54 Question Id : 6760337892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



¢ §u L.'(MLE] b/.._ﬁ)",)f[, Ku"l - fé%(ﬁf)é ._,gl L}:‘{y‘;[jﬁf,ﬂruﬂ

LHS

Options :

|
67603328933.

|
67603328934,

I

67603328935.
67603328936. ]

Question Number : 55 Question Id : 6760337893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view from
the answer figures.

Options :

67603328937.

67603328938.

67603328939.

67603328940.

Question Number : 55 Question Id : 6760337893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D i ¥, TF g F T T B @ T | 6 Sl e (2 @) S
il ¥ ¥ vEEr |

Options :

67603328937.

67603328938.

67603328939.

67603328940.

Question Number : 55 Question Id : 6760337893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



s L}:.’}SJLSI? % ol KJ’..H:;;. P!L;H/J(&GIT)A?, ug J{!‘;dﬁ; Jﬁ i3

&l

¥
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Options :

67603328937.

67603328938.

67603328939.

67603328940.

Question Number : 56 Question Id : 6760337894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

N

Options :

67603328941.

67603328942.

67603328943.

67603328944.

Question Number : 56 Question Id : 6760337894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D e ¥, UF oG & UH €9 Bl @ T E | AR a6 fon ¥ dud g, vl e
F T AHRE § & TEAry |

i

Options :

67603328941.

67603328942.

67603328943.

67603328944.

Question Number : 56 Question Id : 6760337894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



5KJILJ)Jvﬁié,g-q_thﬁG(ﬁT)g,ﬂJMdﬂ;w
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Options :

67603328941.

67603328942.

67603328943.

67603328944.

Question Number : 57 Question Id : 6760337895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Three views (Front view, Left hand side view, Right hand side view) are given.
Combine them and Identify the correct 3-Dimensional view from the answer
figures.

FRONT LEFTSIDE  RIGHT SIDE
ELEVATION ELEVATION ELEVATION

Options :

67603328945.

67603328946.

<
b
%

67603328948.



Question Number : 57 Question Id : 6760337895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M 299 (F]Q 299, 9l % & £99, T A% @1 £99) 16U MU ¥ | gl fiengd
qo gEe wE BT gvg, IR amgiadl ¥ § wEErn |

FRONT LEFTSIDE  RIGHT SIDE
ELEVATION ELEVATION ELEVATION

Options:

67603328945.

67603328946

67603328947. %

67603328948



Question Number : 57 Question Id : 6760337895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
£ &edfs SUP (LUK LS Eel) Ut £ &) ufé
e ol Gl

FRONT LEFTSIDE  RIGHT SIDE
ELEVATION ELEVATION ELEVATION
Options:
67603328945.
67603328946.
67603328947.

67603328948.



Question Number : 58 Question Id : 6760337896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following answer figure shows the correct view of the 3-D image
unfold ?

Options :
_Il
NN
67603328949. L
.1

67603328950, l_l—

67603328951. L

67603328952. =



Question Number : 58 Question Id : 6760337896 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frer Tox ampfotl § @ @9 &, 3-D epla & gen gon e Tvg fawh ¥ 7

Options:
-y
67603328949. L
]

67603328950. L—I_

67603328951. —

67603328952. - L

Question Number : 58 Question Id : 6760337896 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :
Ea F I3
67603328949, L
| I ] I
| 1 1 |
| 1 [ |
67603328950. I_L‘
| | T
| | | | ]
67603328951, )
| == T 1
] 1 ] 1 1
1 ——— |
67603328952, =

Question Number : 59 Question Id : 6760337897 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem
figure with respect to x-x ?

Ay

/R
Options :
67603328953.
67603328954,

iy iy

67603328955. |
67603328956.

Question Number : 59 Question Id : 6760337897 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T il § § B W A & T U SPHT H x-X & AN FEl WA g ?

!\}{

Options :

67603328953.

67603328955.

o,
e
g

67603328956.

Question Number : 59 Question Id : 6760337897 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



?%{f"“-fu(ufiéwiX—K{ﬁé'f'gﬁdjﬁuf"‘-):uﬂ

A\

X
N/

Options :

67603328953. ! I

67603328954, i ;

67603328955. ' |

67603328956. | ;

Question Number : 60 Question Id : 6760337898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct Mirror image of the problem
figure with respect to x-x ?

o~ T *
P
\/ \\)
\% /;/
wrrriririri
W
Options :
L
;/

67603328957, ANV >

IS AT A SIS

[N yd
67603328958, AN

%
-~ o
\\\\ ////

67603328959.

LY
z
Z

N\

67603328960, NNANNNNNNNN

Question Number : 60 Question Id : 6760337898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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11T
v X
Options :
L1

67603328957, MMNNNWANN[

L

AN /]
67603328958, L\\NNNANNNAN

P
7
67603328959, SOV

L7

$
67603328960, BMANNNANNNNN

Question Number : 60 Question Id : 6760337898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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P x

7
4/

Options :

/L1117
;’/

67603328957, DMAMANANAN >

A P

pd
67603328958, LANNNNNNNN

67603328959, DNNNANNNNNN

LR
2
i

NN

67603328960, LNANANANNNNN

Question Number : 61 Question Id : 6760337899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figure is the correct Mirror image of the problem
figure with respect to X-X ?

A X
v X
Options :
67603328961.
67603328962.
67603328963.
67603328964.

Question Number : 61 Question Id : 6760337899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T AGRAT | | B W SPT < T 9 AH B X-X & e gl wie g 7

AX
v X
Options :
67603328961.
67603328962.
67603328963.
67603328964.

Question Number : 61 Question Id : 6760337899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



?%;ﬁ—fx{u’fﬁwﬁ x—x 279 My 30§55 U e U2 !

M X
v X
Options :
67603328961.
67603328962.
67603328963.
67603328964.

Question Number : 62 Question Id : 6760337900 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the following answer figure is hidden in the problem figure in the same
size and direction. Select the correct one.

Options:

67603328965. @
67603328966. Q

67603328967. %
67603328968. G

Question Number : 62 Question Id : 6760337900 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e % 9 U SOY fe 39l o aen foon o wed o o fvwr ganm € 1 W@ S @l
g |

Options :

67603328965. @

67603328966.



N

67603328967. %
67603328968. D

Question Number : 62 Question Id : 6760337900 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 2@y 2e feryiatifae FUfe Ut ol

Options :

67603328965, @
67603328966. ll

67603328967. %
67603328968. Q

Question Number : 63 Question Id : 6760337901 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
One of the following answer figure is hidden in the problem figure in the same
size and direction. Select the correct one.

Options :

67603328969. &

67603328970. E

67603328971. 6

67603328972.

Question Number : 63 Question Id : 6760337901 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e o o w3 fom 36 e e fean F eA fow A fown gem @ 1 W ST @
g |

Options :

67603328969. &



67603328970. £
67603328971. @

67603328972. w

Question Number : 63 Question Id : 6760337901 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e Doy S2e ferSiatylSre Ffe 2o

Options:

67603328969. &

67603328970. E

67603328971. 6

67603328972.

Question Number : 64 Question Id : 6760337902 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in the
same size and direction. Select the correct one.

Options :

67603328973.

67603328974. :

67603328975. :

67603328976.

Question Number : 64 Question Id : 6760337902 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frt & & & o fom o oM awn fen | wed fom A fow gen @ 1 W@ S A
g |

Options :

67603328973. U



67603328974. :

67603328975. :
67603328976. i

Question Number : 64 Question Id : 6760337902 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Se KPS 2 Lo Sinot I 2 FUfe Ly

Options:

67603328973.

67603328974. :

67603328975.

67603328976.



Question Number : 65 Question Id : 6760337903 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The problem figure shows the top view of an object. Identify the correct
elevation from the figures looking in the direction of arrow.

:

T

Options:

67603328977.

67603328978.

67603328979.

67603328980.




Question Number : 65 Question Id : 6760337903 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9T STH A TH I b HIU €99 HI @ T g | I A R F <@ 30, AW
il § ¥ W Tade™ (elevation) TEEI |

T

Options :

67603328977.

67603328978.

67603328979.

67603328980.

Question Number : 65 Question Id : 6760337903 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SAEWEL 7 LW Sl § (BT) g T Ut 19 Jr b
¢ gy E-rul.'z'; K e

q

Options :

67603328977.

67603328978.

67603328979.

67603328980.

Question Number : 66 Question Id : 6760337904 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct
elevation from the answer figures looking in the direction of arrow.

T

Options :

67603328981. |_U-A_\JJ\—‘
67603328982. w
67603328983.

67603328984. m

Question Number : 66 Question Id : 6760337904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9T T UH T & Sl £ A femmn Mg ¥ | AR A fon f Twa o, A W
T S § T TG e |

T

Options :

67603328981.

67603328982.

67603328983.

HIEE

67603328984.

Question Number : 66 Question Id : 6760337904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&

2, J)’Jc)lﬁcif'-f_ Ly sl S

= [T v

¥ (L57) 2 LI 2 iy JJ’E s
¢ gv ga..fLEi KU

Options :

v
67603328981.
67603328982. w
67603328983.
67603328984. m

Question Number : 67 Question Id : 6760337905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figure is the correct Mirror image of the problem
figure with respect to X-X ?

AX
VX
Options:
67603328985. :
67603328986. @
67603328987. :
67603328988. @

Question Number : 67 Question Id : 6760337905 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T AP H ¥ DA A APl 957 opia o X-X & qng § a9l uiares g 7

X

=

VX
Options :
67603328985. @
67603328986. @
67603328987. @
67603328988. @



Question Number : 67 Question Id : 6760337905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fa ;r"h-u":u(;f‘jéfffﬁf;(:- o

Options :

67603328985.

67603328986.

67603328987.

67603328988.



Question Number : 68 Question Id : 6760337906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“Shikara’ is a type of boat found mainly in lakes of city of the following states.
Options :

67603328989, Udaipur

67603328990, Jammu-Kashmir

67603328991. Kerala

67603328992, Manipur

Question Number : 68 Question Id : 6760337906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T e q@ W TE T, W@ P A @ e T @ e § ger w0 R el and
g7

Options :

67603328989, 3493
67603328990, T3 BT

67603328991, LA



67603328992. ! Igr

Question Number : 68 Question Id : 6760337906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

te Gt UM S S E 7 U

Options :

:
67603328989, “% <

&.-"
67603328990. A2 s

67603328991, ~ W/

67603328992, 4 i

Question Number : 69 Question Id : 6760337907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who amongst the following designed the ‘Ram Mandir® at Ayodhya ?
Options :
67603328993, Chandrakant Sompura

67603328994. Hafeez Contractor

67603328995, Anant Raje



67603328996, Raza Kabul

Question Number : 69 Question Id : 6760337907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= 5 | fpee sraien & U | @ w9 @ s ¢

Options :
67603328993, T =PI i g

67603328994, & AT EEIE[

67603328995, = Tl

67603328996, o1 DIgH

Question Number : 69 Question Id : 6760337907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ce b e S LK Loy
Options :

67603328903, Y =Bk

b rb‘ .
67603328994, /f / k@

67603328995, &= =1

67603328996. J”( o



Question Number : 70 Question Id : 6760337908 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following group represent Primary colours ?
Options :

67603328997, White, Black, Grey

67603328908, Yiolet, Green, Orange

67603328999 Red. Blue. Yellow

67603329000, Red, Green, Black

Question Number : 70 Question Id : 6760337908 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e & § &9 @ w9 qa it @ afamas ¥ 7
Options:

67603328997, THE, HIEl, Tl

67603328998, ST, B, =Ll

67603328999, T, T, Hral

67603329000, @I, &1, Il

Question Number : 70 Question Id : 6760337908 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
e s’ufrd;y: ..,:.—:/LJ.}(:_, Ja !
Options :

(ol cad
67603328997, ¥/ 2k A&

67603328998. ’!/’ ‘ ‘-;y

67603328999, e <Lk ‘JU

67603329000, % “-J 4

Question Number : 71 Question Id : 6760337909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Kedarnath® is located in which district of India ?
Options :

67603329001, Uttarkashi
67603329002. Uttarakhand
67603329003, Chamoli

67603329004, Rudraprayag

Question Number : 71 Question Id : 6760337909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g & e e o ‘her iy’ Reg & 7



Options :

67603329001, ST
67603329002, IAUETS
67603329003, THE!

67603329004. a9

Question Number : 71 Question Id : 6760337909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
8 uf/p:g_)fii ks S

Options :

F-3 y
67603320001, U 6171

Lo
67603329002, 4Z1.71
67603329003. dﬁ

p _
ol
67603329004, ™ LAY

Question Number : 72 Question Id : 6760337910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who 1s the Architect of *Virasat-e-Khalsa™ ?
Options :

67603329005. I. M. Pei



67603329006. Moshie Safdie
67603329007, Raj Rewal

67603329008, Bimal Patel

Question Number : 72 Question Id : 6760337910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘- t—aeEr % argied B9 3 7
Options :

67603329005, 5. TH. T.

67603329006, 19T THE!

67603329007, TIST {T™

67603329008, oW e

Question Number : 72 Question Id : 6760337910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
?‘&. b o sary “Uw/qraixgi,

Options:

i gt

67603329005.

67603329006, B4 ¥



67603329007. d"-’f" el

67603329008. ‘-J:; '-J/

Question Number : 73 Question Id : 6760337911 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who was the Architect of famous *Glass Pyramid at the Louvre Paris’ ?

Options :
67603329009, Walter Groupius

67603329010. Charles Correa

67603329011. I. M. Pei

67603329012, - L. Wright

Question Number : 73 Question Id : 6760337911 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@rae 9@ (Louvre Paris) # wies ‘e Rais’ & angiyedl &F & ?
Options:

67603329009, 1eX fira

e B

67603329010.

67603329011, 315. TH. U3



67603329012, Sh. Tel. 1=

Question Number : 73 Question Id : 6760337911 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
¥ &
i~ e § Pl g8 e KU

Options :
& 3 = b
676033290009. U’%’/ vt

U

67603329010. =

67603329011. d*.l: ‘étd’

."[ *
67603329012, =% S

Question Number : 74 Question Id : 6760337912 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the following List-I with List-II.

List-I List-I1
A. Madhubani painting [.  Madhya Pradesh
B.  Shekhwati painting [I. Orissa
C. Pattuchitra painting [II. Bihar
D. Gond painting [V. Rajasthan

Options:



67603329013. A-[-_. H-]]. C-[V. I)-[[[

67603329014, A-III, B-IV, C-II, D-I
67603329015, A-II. B-III, C-IV, D-I

67603329016, A-1V. B-1, C-I1, D-III

Question Number : 74 Question Id : 6760337912 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fret et -1 @t g1 @ T

Tl -1
(A) g dfe (I) = R
(B) st dfen (1) hfsen
(C) wghem dfez (IIT) e
(D) e Tz (IV) T
Options :

67603329013, A-1, B-II, C-IV, D-III

67603329014, A-1I1, B-IV, C-II, D-I

67603329015, A-IL. B-III, C-TV, D-I

67603329016. A-1V. B-1. C-II, D-III

Question Number : 74 Question Id : 6760337912 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e - A L e -

II-erf I-ef

Pog wos (D S G A
i an e b B
(D) e 1 22 (C)

JE2L V) DA ))

Options :

67603329013, A-1, B-II. C-IV, D-III
67603329014, A-11I, B-1V, C-II, D-I
67603329015. A-1l, B-III. C-IV. D-I

67603329016. A-1V, B-I, C-II, D-III

Question Number : 75 Question Id : 6760337913 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What do you understand by ‘Complementary colours™ ? Choose correct answer
amongst the following

Options :
67603329017, Mixing the primary colours.

67603329018. Colours next to each other on colour wheel.

67603329019, Colours opposite to each other on colour wheel.



67603329020, Mixing of secondary colours.

Question Number : 75 Question Id : 6760337913 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e TN (Bl o) § o9 71 95 & 7 B § | 921 oaX g |
Options :

67603320017, T T T TS T

67603329018, TT T UT TH FEL b OFT {0
67603329019, T Th UX Teh GHL & HA & {0

67603329020, THOT 1 @7 fager &

Question Number : 75 Question Id : 6760337913 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ter AR édﬂ-u:d'?u;?ﬁlffk; uﬁ(dﬁ”ﬁ’)u&f

Options :

- TR,
67603329017, 2 KUﬁ Ok

Ld“}&;/ﬁ:.guﬂﬂ.—c

67603329018.

LJML;/J:-QJ%L

67603329019.

-~ - # b_
67603329020, 24 E’ug 1%



Question Number : 76 Question Id : 6760337914 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who worked with ‘Le-corbusier’ on Chandigarh planning among following
architects.

Options:

67603329021, C. P. Kukreja
67603329022, I L. Wright
67603329023, Stein Joseph

67603329024, Raj Rewal

Question Number : 76 Question Id : 6760337914 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
et argfifeuat # & fpae @i @it § W BERC & W F fear ?
Options:

67603329021, SN WW
67603329022, Th. Td. {5

67603329023. EElg S

67603329024, &1 {dTe

Question Number : 76 Question Id : 6760337914 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UK AL S NS e Ok o S
Options :

NNy

67603329021. *

67603329022, =5 7 S

L
67603320023, =% U |

67603329024, d{i" Cls

Question Number : 77 Question Id : 6760337915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figure is hidden in the problem figure in same
size and direction. Select the correct one.

Options :

67603329025. E :
67603329026. ;
67603329027. &



67603329028. :

Question Number : 77 Question Id : 6760337915 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Pt & § e SoX fo S oM aur R F v R o fow gan ¥ 1w S A
gHT |

Options :

67603329025. L-’ :
67603329026. ;
67603329027. x

67603329028.

Question Number : 77 Question Id : 6760337915 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



‘e oWy 2e ferint§lSre Fofe Lo

Options:

67603329025.

67603329027.

I~
\
N

67603329028.

Question Number : 78 Question Id : 6760337916 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the following question number of triangles are ?

Options :

67603329029. 13

67603329030. 19



67603329031. 20

67603329032, 21

Question Number : 78 Question Id : 6760337916 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frer Ry & Pl o wem

Options :

67603329029. 15

67603329030. 19

67603329031, 20

67603329032, 21

Question Number : 78 Question Id : 6760337916 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



eur (uf) e &t U

Options :

67603329029. 15

67603329030. 19

67603329031, 20

67603329032. 21

Question Number : 79 Question Id : 6760337917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct
elevation from the answer figures looking in the direction of arrow.

Options:
p ML q
67603329033.

67603329034.




67603329035.

67603329036.

Question Number : 79 Question Id : 6760337917 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y9 T H U I & SUQ 99 @l femnn ¥ | Ok @ fan # <@ gm,
HEl TAISH (elevation) Hi I agiodl # ¥ Ay |

Options :

p (LN q
67603329033.

[ U=

67603329034.

67603329035.



67603329036.

Question Number : 79 Question Id : 6760337917 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gKur; ».J)’Ju@cf-,f' tﬁL “U?'l_rbzﬁwlkﬂ L,f.pf (@ uguf;!‘;.;”r’w
?gkggkU§

Options:

p §Ri% q
67603329033.

N LS

67603329034.

67603329035.




67603329036.

Question Number : 80 Question Id : 6760337918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct
elevation from the answer figure. Looking in the direction of arrow.

\V

T

Options :

67603329037, |

67603329038.

67603329039.

67603329040.




Question Number : 80 Question Id : 6760337918 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9T P § TH a & HUU 29 B fe@wEn mn ¥ 9 & e ¥ @ 3w,
Wl TArsH (elevation) @l I agiadl ¥ & eanid |

\/

T

Options:

67603329037.

67603329038.

67603329039.

67603329040.




Question Number : 80 Question Id : 6760337918 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢ gy "lf(uwj gKJ'
Options :
67603329037. |
|
|
67603329038,
67603329039,

67603329040.




Planning

Section Id : 676033302
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 676033304
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 6760337919 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which country has the highest life expectancy in the world in 2020 ?

Options:

67603329041, Honk Kong

67603329042, Switzerland

67603329043. India

67603329044, Australia

Question Number : 81 Question Id : 6760337919 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
fava § &g <o =t I=3a9 Sia T 82

Options :

67603329041, BT

67603329042, *I< N

67603329043. HId

67603329044. I “I”

Question Number : 81 Question Id : 6760337919 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢ o FCPmlic e Sl 202085
Options :

SEEL

67603329041.

b [ &
67603329042. Y

67603329043, UM

v

]
67603329044, &J*‘-/"

Question Number : 82 Question Id : 6760337920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(a)  Metropolis (b)  Neighbourhood
(c)  Polis (d)  Anthropos
Which of the following is the correct option based on the descending population size ?

Options :
67603329045, (D)= (A) = (C)— (B)

67603329046, A) (€)= (B) = (D)

67603329047 (A)= (D) = (B) = (C)

67603329048, (C) > (A)= (B) = (D)

Question Number : 82 Question Id : 6760337920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a) HErfe™ (b) HaEE (c) diferd (d) TG
TGS 3TN o YR W A feu gu fowedi § aF-u1 we €7
Options :

67603329045, (D)= (A) = (C)— (B)

67603329046, A) > (€)= (B) = (D)

67603329047 (A)= (D) = (B) = (C)

67603320048, () (A)=> (B) = (D)

Question Number : 82 Question Id : 6760337920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



J‘g-,.’/}“" (@)

25 (b)

vi @©

A (d)

¢ ;:_&WLJ'L'E_:fgLfLﬁJL‘,TEJﬁLL@fJI

Options :
67603329045, (D)= (A) = (C)— (B)

67603329046, A) > (€)= (B) = (D)

67603329047 (A)= (D) = (B) = (C)

67603320048, () (A)=> (B) = (D)

Question Number : 83 Question Id : 6760337921 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year the Indian Forest Act was passed ?
Options :

67603329049, 1921

67603329050, 1927

67603329051, 1930

67603329052, 1951



Question Number : 83 Question Id : 6760337921 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sfream Wit wee e ad o wifta gom an?
Options :

67603329049, 1921
67603329050, 1927
67603329051, 1930

67603329052, 1951

Question Number : 83 Question Id : 6760337921 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¢ e/ Yk Il SIS
Options :

67603329049. 1921
67603329050, 1927
67603329051. 1930

67603329052. 1951

Question Number : 84 Question Id : 6760337922 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following is NOT a dominant characteristics of Islamic cities during medieval
period ?

Options :

67603329053, Gardens

67603329054, Candles

67603329055, Mosque

67603329056, Cathedral

Question Number : 84 Question Id : 6760337922 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frerfafiad & 9 SF-91 T ' HeAHIe STaeree’ & GRH S5 Yedl &1 Ysa 0 781 ¢ 2
Options :

67603329053, T~
67603329054, hTSeH

67603329055, AIEIE

67603329056. * %

Question Number : 84 Question Id : 6760337922 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ve u:”&k;,ﬁrﬂld/u:/;&._fwlé: JJ)U;:Jt'(}z’;C}J/?L-;’J/ﬁ-*UcU[

Options :



67603329053, L't

67603329054, 1%

67603329055, &

|45
67603329056. wﬂ,{’

Question Number : 85 Question Id : 6760337923 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is a capital city ?
Options :

67603329057, Frankfurt

67603329058, Yydney
67603329059, New York

67603329060. Stockholm

Question Number : 85 Question Id : 6760337923 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fr=rfafEg § 9 =F- u TeuE 87
Options :

67603329057, HehHe

67603329058, TH&A



67603329059, ~4 1

67603329060, F2IHEM

Question Number : 85 Question Id : 6760337923 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
v

¥ »:ﬁ“_q.::#ﬁfﬂ;d:(f_.d:uﬂ

Options :

67603329057. *-‘*A/’

_"r b
67603329058, V47

67603329059, JE-"-‘-’

,J
s
67603329060, [ 7= ¥

Question Number : 86 Question Id : 6760337924 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The headquarters of World Health Organisation is located in :

Options :
67603329061, "Vashington D.C.

67603329062, Paris

67603329063. Stockholm



67603329064, Geneva

Question Number : 86 Question Id : 6760337924 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fava e Tie 1 gEed el d 72

Options :

67603329061, TINTE SI.H.

67603329062, URH

67603329063, FlHeM

67603329064, ST-ET

Question Number : 86 Question Id : 6760337924 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- F_3 - 2
¢ U Puaek (=70 T50) g

Options :

-
67603329061, B-U I3

67603329062, /7

,J
s
67603320063, [ 7= &

67603329064, ' £



Question Number : 87 Question Id : 6760337925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
A Auroville [ Dilwara Temples
B New Delhi II Dakshineshwar Temple
% Mount Abu II1 Bahai Temple
D Kolkata IV Matrimandir

Choose the correct answer from the options given below :

Options :
67603329065, A-1l, B-III, C-IV, D-I
67603329066, A-IIl, B-II, C-IV, D-I

67603329067. A-1V, B-II, CI, D-II

67603329068, A-1V, B-lll, C-I, D-II

Question Number : 87 Question Id : 6760337925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

it -1 =1 Feit-11 ¥ e SIS

it -1 qeir-11
A safaet I feeem \ft
B e I <feydeer w@fe
C TR g I =eRE |
D IeTehTdl IV HgHfet
= fed gu fowedi o @ @ fowen 9fu

Options :



67603329065, A-11, B-III, C-1V, D-I
67603329066, A-1lI, B-II, C-IV, D-I
67603329067, A-1V, B-II, C-1, D-III

67603329068, A-1V, B-1II, C-I, D-II

Question Number : 87 Question Id : 6760337925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 b Mo o3l oz b

| | WO | ROV

a1t (D) Jod (A)
ot (1) St (B)
L3l (1) fe3l ()
I (IV) (& (D)

: %..:.«b? é::. Ui UJ‘L;(_ZE&,'JJ
Options:
67603329065, (A)-(11), (B)-(11I), (O)-(IV), (D)-(I)
67603329066, (A)-(11I), (B)-(11), (C)-(IV), (D)-(I)

67603329067. (A)-(IV), (B)-(IL), (C)-(I), (D)-(I1I)

67603329068, (A)-(1V), (B)-(ILI), (C)-(I), (D)-(11)



Question Number : 88 Question Id : 6760337926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following was the main aim to promote "World Trade Organisation’ ?
Options :
67603329069, To liberalise international trade.

67603329070. To promote trade of rich countries.

67603329071 To promote trade of poor countries.

67603329072, 10 promote bilateral trade.

Question Number : 88 Question Id : 6760337926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fava =R Hre # Wiedfed # #1 9 ° § S g @ o1?
Options :
67603329069, ZTUEA FATIR il SIRIFTN FTT

67603329070, STHIX W % SATIR 1 HIeHEH <l
67603329071, T T & SATIR 1 WiedTed o1

67603329072, 694 SATIR =l e <1

Question Number : 88 Question Id : 6760337926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



L e

: ;:_Wﬁlﬁ:_.;b&ﬁ::’?f}djgduufd:d[
Options :

67603329069. C‘*‘Jufukfc'-'&&;f PSS

67603329070, ° &% Jr‘-; eyl u_,ﬁ/{[
67603320071, 56 & Seleidube. /

67603320072, ' £ 5 eiles CAYCY

Question Number : 89 Question Id : 6760337927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gender division usually refers to :

Options :
67603329073, Unequal child sex ratio.
67603329074, AAbsence of voting rights for women.

67603329075, Biological difference between men and women.

67603329076, Unequal roles assigned by the society to men and women.

Question Number : 89 Question Id : 6760337927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iR Ta9rSH AR 9T 29 ©



Options :

67603320073, 1A R fel 7w

67603329074, HigeT=1l =1 HaTfe@rr = M

67603320075, el Td gEul < siel SAferk ¥ § wRIEF 3w

67603329076, THTS G qeul SR HfeeTsdi = sTer w1 <

Question Number : 89 Question Id : 6760337927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: .-.:'_:l/.,;;:f’r"la[‘:n}._w’
Options:

67603320073, = EU Uslad
67603329074 Szt §Sev L FLULS
67603320075, O/ SE LU U iU

67603320076, b2 b/ 6 AU UTE S Ly

Question Number : 90 Question Id : 6760337928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ways in which individuals may become cut-off from full involvement in the society is
known as :

Options :



67603329077. Social inclusion
67603329078. Social inequality

67603329079. Social stratification

67603329080, Social exclusion

Question Number : 90 Question Id : 6760337928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
39 99 =1 59w =i 99 | Wl o 9 51 S Hehdl €, 39 HEd © ¢

Options:

67603329077, TTHISTeH THEY!
67603329078, TTHITsH STHH

67603329079, I fa9rH

67603329080, TS sfEwhr

Question Number : 90 Question Id : 6760337928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s e S LR 26 urfﬁﬁf.gﬁuﬁps;aa
Options :

A
67603329077, =4 G-k



67603329078, (Wi N

- X
6760332007, (& 10/

67603329080, &7 15F

Question Number : 91 Question Id : 6760337929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The per capita income of a country is calculated by dividing :
Options :

67603329081 | he total income by total consumption.

67603329082, The national income by its total population.

67603329083, The total value of goods and services amongst its citizens.

67603329084, 1 he national income by total capital investments.

Question Number : 91 Question Id : 6760337929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ferell <o =1 wideafed a1 1 TTom, fawreH & 1 S @

Options :

67603329081, 171 3T 1 fasimsrt ot & &

[

67603320082, T214 3T 1 faurs i seen §




67603320083, eI < o™ o] T HaTe,' =T Tl e

67603329084, T 3T 1 favrsr ot snifeish o 9

Question Number : 91 Question Id : 6760337929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e Jedbe RIS TR L

Options :

67603329081 SRy g AR
67603329082. = '-'Td":’.f Fﬂ J ARt
67603329083, "“-’T‘ﬁb:’mﬂ'*?’ﬁ@iuﬂ

67603329084. f‘;ﬂdldifd;

Question Number : 92 Question Id : 6760337930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following problems is associated with burning of coal ?

Options :

67603320085, Seneration of ash with toxic impurities.

67603329087. carbon dioxide emissions.



67603329088, acid rain phenomenon.

Question Number : 92 Question Id : 6760337930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frafafea 5 @ FE-H 99en S 1 o 9 39 el § 7

Options :

67603329085, ° gl STyfaal & | T’ a

67603320086, PICIAR I SHIA T HeTMT 3T fF STarhefon T

67603329087, T SESTHFAEE e

67603329088, T=1d Ui

Question Number : 92 Question Id : 6760337930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¢ ;"_d}f[ﬁ .:»:.J:""L,‘"u)fc_.i. UP!Q-?/L Je

Options:

67603320085, 148 11 L”L/L‘;LEA'J

e e g R S

67603329086.

& - 3 b
67603329087, L TA15K

AR,
67603329088. L-’"'!d S



Question Number : 93 Question Id : 6760337931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the distance between points A and B on the map measures 2.5 cm and the scale given on
the map is 1 : 500, what will be the distance between points A and B on actual ground ?

Options:

67603329089. 12.5 cm
67603329090. 20 cm
67603329091, 12.5 m

67603329092, 20 m

Question Number : 93 Question Id : 6760337931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe 1 forgadi (A) W& (B) % ot &1 T A W 2.5 9.1, € wS fean wn g, mefes W
1:500 %1 ara | M1 forgall % oft= =1 g o 2mft?

Options :

67603329089, 12.5 ..
67603329090, 20 H.H.
67603329091, 12.5 HreX

67603329092, 20 HieX



Question Number : 93 Question Id

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
JKEL B A higie 1:500 2k,

“ oy

Options :

s b bk
67603329089. HE 125

I 5
67603329090, /~ 20

b
67603329091, /=~ 12.5

b
67603329092, /=~ 20

Question Number : 94 Question Id

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 6760337931 Question Type : MCQ Option Shuffling : Yes Is

B K8 25 L SWEL B A L))

¢ Gl de S

: 6760337932 Question Type : MCQ Option Shuffling : Yes Is

The maximum potential of wind energy is available in which of the following states of India ?

Options :

67603329093, Karnataka

67603329094, Andhra Pradesh

67603329095, Cujarat

67603329096, Tamil Nadu

Question Number : 94 Question Id

: 6760337932 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sf¥eram gad el &t GureHn, Frefataa § 4 fea v o 3uess ©72

Options :

67603329093, F1ZH

67603329094, 1Y ¥

67603329095. J

67603329096. AHeT S

Question Number : 94 Question Id : 6760337932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PRS- YN ST AR B {970
Options:

67603329003, €6/

a2 T
67603329004, Y4+

67603329095.‘“b£f

67603329096.”t¥}r

Question Number : 95 Question Id : 6760337933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What is the full form of GIS ? Choose the correct answer.
Options:

67603329097. Geological Information System

67603329098, Geographic Information System
67603329099, Geo-scientific Intelligent System

67603329100. Geo-photographic Intelligent Satellite

Question Number : 95 Question Id : 6760337933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
GIS =1 U1 A8 41 8 ? Wel faamed =+ |

Options :

67603329097, [SINCITSThel TR faen

67603329098. festmnfes sTem fawe

67603329099, fSeT-wrf=frs g=fas fawen

67603329100, [eT-FIERNTHS F=fase Heemee

Question Number : 95 Question Id : 6760337933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 2’:;_,.,,1325 ¢ « ety (GIS) - A-ATG
Options :

67603329097.



A

b Xy .
67603329098 > Jﬁ”ﬁ'/f
67603329099. f_/ oy B g2

.-'"'b ™
67603329100, = U7 ST

Question Number : 96 Question Id : 6760337934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - IT :

List - I List - II
A Satyagraha Movement I Alaknanda valley
B Chipko Movement I Calcutta
2 Swadeshi Movement 11 Bambay
D Quit India Movement IV Champaran

Choose the correct answer from the options given below :
Options:

67603329101, A -1 B-1V,C-1II, D -1II

67603329102, A- 1L B-IIL C-1V, D -1

67603329103, A-1IL B-1V,C-1I, D -1

67603329104, A -1V, B-1L C-1II, D-1II

Question Number : 96 Question Id : 6760337934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

geit-1 =1 gei-11 9 frem i)

gt -1 -11
A HAEUE gEu= I SeAHgl =
B fagep! gaa= 11 TRl
C =il gau= m &
D ffe s qau= IV ==
< o3 gu faweui 9 § @@t faewey g
Options :

67603329101, A-L, B-IV, C-II, D-III
67603329102, A-1l, B-III, C-1V, D-I
67603329103, A-lll, B-IV, C-II, D-I

67603329104, A-1V, B-1, C-II, D-III

Question Number : 96 Question Id : 6760337934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PITS | SO IS SR

| | IO | ROV

S (1) e B (A)
£ o2 (B)
& e (Q)
Wtz (IV) mvliied (D)

: %ﬁ,lﬁé;uﬁ;u;pdﬁjaﬂ

Options :



67603329101, (A) - (1), (B) - (IV), (C) - (11), (D) - (11I)
67603329102, (A) - (I11), (B) - (I11), (C) - (IV), (D) - (I)
67603329103, (A) - (I1L), (B) - (IV), (C) - (11), (D) - (1)

67603329104, (&) - (IV), (B) - (1), (C) - (1I), (D) - (11I)

Question Number : 97 Question Id : 6760337935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The concentration of NO, (in ppm) collected from 30 wards of a city is shown below :
Concentration of NO, Frequency
0.00 - 0.04
0.04 - 0.08
0.08 - 0.12
0.12 - 0.16
0.16 - 0.20
0.20 - 0.24 2
Find the mean concentration of NO, in the air. Choose the correct answer.

= I O WD e

Options:

67603329105, 29 ppm

67603329106, 0009 ppm

67603329107, 099 ppm

67603329108, -V PpPm

Question Number : 97 Question Id : 6760337935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

T W& & 30 1€ | THEA i T NO, (ppm H) F1 Trdl I =l 91 T € -
NO, &t |igar gt
0.00 - 0.04
0.04 - 0.08
0.08 - 0.12
0.12-0.16
0.16 - 0.20
0.20 - 0.24

NO, 1 T Tl i a1 8 7oA Hiferg v Wt foe 9fe

Options :

(TSI S G TRV - T - S

67603329105, V-99 ppm

67603329106, V-009 ppm

67603329107, V-099 ppm

67603329108, 20 ppm

Question Number : 97 Question Id : 6760337935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



< VUBE S5198 NO, (in ppm) U T it 30 £ AL

Frequency Concentrationof NO»p
4 0.00 - 0.04
9 0.04 - 0.08
9 0.08 - 0.12
2 0.12-0.16
4 0.16-0.20
2 0.20 - 0.24

iz ¢ Gudtm (PN G 7S No,
Options :
67603329105, U-99 ppm

67603329106, 0-009 ppm
67603329107, 0-099 ppm

67603329108, 2-0 ppm

Question Number : 98 Question Id : 6760337936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given scatter diagram can be interpreted as showing :

I - axis
A

% X - axis



Options :

67603329100. Low degree of positive correlation

67603329110. High degree of positive correlation

67603329111, Perfect positive correlation

67603329112. No correlation

Question Number : 98 Question Id : 6760337936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fen el s’ w1 3 WA o fee v €

y -
M
> x - 38
Options :
67603329109, NoPIUcH HEHH 1 <JIdH FHIT

67603329110, HRRIcHS: HEHaH 1 I== FHIUI

67603329111, 10 HehRIcHsh HEHaY

67603329112, PIE TEHsY Tl

Question Number : 98 Question Id : 6760337936 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I - axis
M

> X - axis

Options :

67603329109. AE'J’/:{ EUL'J Sl
! wolnf s

67603329110. fﬁﬁd& 'EUL'J Uil

67603329111, Fe L:&J"(

67603329112, U4 S Lﬂdf(

Question Number : 99 Question Id : 6760337937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O - Literate

[] - Unemployed

A - Females

Which number represents unemployed and illiterate females ?



Options :

67603329113, 2

67603329114. 1

67603329115, 4

67603329116, 3

Question Number : 99 Question Id : 6760337937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIH-HT T SR Ug Afwfara Afgensdi w1 goida &2

Options :

67603329113, 2

67603329114. 1

67603329115, 4

67603329116. 2

Question Number : 99 Question Id : 6760337937 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢ o QUUE P s17 o FPse

Options :

67603329113. 2

67603329114. 1

67603329115, 4

67603329116. 3

Question Number : 100 Question Id : 6760337938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) :  Women home-based workers suffer from various ailments in a city.

Reason (R):  Metropolitan cities show a high growth of population from census 2001 to
census 2011.

In the light of the above statements, choose the correct answer from the options given
below :
Options :

67603329117 Both (A) and (R) are true and (R) is the correct explanation of (A).



67603329118, Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

67603329119, (A) is true but (R) is false.

67603329120, (A) is false but (R) is true.

Question Number : 100 Question Id : 6760337938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T A WA FA T 5 T T F ARG (A) T TR FHRT(R) Fa T E
Ao (A) T8 FER nfeerd fafvm yem @t s & 3 €

T (R) : USTeTeT TR it SRR 2001 | 2011 T FEeEn § 3ig <
Zl

T fed T ol % agER, =l W fawed 4 4wl e g

Options :

67603320117, S 9T (A) TH (R) HA § Td YA (R), FIA (A) F Hal TEHW ¢ |

67603329118, Sl e T € W HUA (R), FF (A) F1 Tl T T B

67603329119, I (A) T €, Tg FH (R) 39 T

67603329120, T (A) ¥ B, T F (R) ¥ T

Question Number : 100 Question Id : 6760337938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o (R) 2 « (Aot L esatipnd
R eSUADDEAS : (A) §5
e Qe BEAGLTIE 2011 & 2001 G rdfrein? : (R)
: z:';h,.,mé‘u:ua:lﬁsz;_.ggr&uzfz:u;g:zfg_;{f

Options :

67603329117, *‘f—bf =2 Lb;(';J(A) Uk (R) Uit éa (R) 2 (A) YU
67603329118, *‘f—t'/ BCelte 5-':/( (A) Uk (R) Ukeglst éa (R) 2! (A) WU

67603329119, ~<—2¥ (R) Ukl g(ﬂ) Wk

67603329120, -.-.-;_g(R} Jlesle bl (A) Yk

Question Number : 101 Question Id : 6760337939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Global temperature is expected to rise significantly.

Reason (R) : Increasing vehicular growth is causing increasing carbon dioxide emission
in air.

In the light of the above statements, choose the most appropriate answer from

the options given below :

Options:

67603329121 Both (A) and (R) are true and (R) is the correct explanation of (A).

67603329122, Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

67603329123, (A) is true but (R) is false.



67603329124 (A) is false but (R) is true.

Question Number : 101 Question Id : 6760337939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 101 Question Id : 6760337939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 102 Question Id : 6760337940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The above layout shows built area as well as Un-built area. Housing area has four floors and
infrastructure has seven floors. Find the ratio of land under built area to Non-built area. The
correct answer is :



Options :

67603329125, 142 : 92
67603329126, 83 : 142
67603329127. 83 : 92

67603329128, 142 : 83

Question Number : 102 Question Id : 6760337940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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67603329125, 142 : 92



67603329126, 83 : 142
67603329127, 83 : 92

67603329128, 142 : 83

Question Number : 102 Question Id : 6760337940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

67603329125, 142 : 92

67603329126, 83 : 142



67603329127, 83 : 92

67603329128. 142 : 83

Question Number : 103 Question Id : 6760337941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio of built housing area on all floors to built infrastructure area on all floors will be :
Options :

67603329129. 280 : 91

67603329130. 281 : 90

67603329131, 90 : 281

67603329132, 91 : 280

Question Number : 103 Question Id : 6760337941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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67603329129. 280 : 91

67603329130, 281 : 90

67603329131, 90 : 281



67603329132, 91 : 280

Question Number : 103 Question Id : 6760337941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

67603329129, 280 : 91
67603329130. 281 : 90
67603329131, 90 : 281

67603329132, 91 : 280

Question Number : 104 Question Id : 6760337942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In many Dutch and German cities, residential streets are now places where cars must give
ways to pedestrians. In these traffic calmed areas, residents and visitors accept the view that
the function of streets is not merely to provide mobility for cars. Streets may also be used for
walking, cycling, playing and other social interactions. One of the most important aspects of
these streets in the range of “traffic calming” initiatives, aimed at reducing the volume and
speed of traffic. These initiatives lead to several positive effects on children’s social
interaction. Recent research has demonstrated that children in German cities have significantly
higher level of freedom to travel to places unoccupied by adults in their own neighbourhood
than children in other-cities of the world.

One of the main purposes of “traffic calming”, as understood from the above passage is to :

Options :

67603329133, calm the children playing on the street.

67603329134 reduce the speeds of vehicles on the street.



67603329135, reduce the noise created by traffic on the street.

67603329136, Ccalm the residents of the neighbourhoods to curb their aggressive nature.

Question Number : 104 Question Id : 6760337942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In many Dutch and German cities, residential streets are now places where cars must give
ways to pedestrians. In these traffic calmed areas, residents and visitors accept the view that
the function of streets is not merely to provide mobility for cars. Streets may also be used for
walking, cycling, playing and other social interactions. One of the most important aspects of
these streets in the range of “traffic calming” initiatives, aimed at reducing the volume and
speed of traffic. These initiatives lead to several positive effects on children’s social
interaction. Recent research has demonstrated that children in German cities have significantly
higher level of freedom to travel to places unoccupied by adults in their own neighbourhood
than children in other-cities of the world.

One of the main purposes of “traffic calming”, as understood from the above passage is to :
Options :

67603329133, calm the children playing on the street.

67603329134 reduce the speeds of vehicles on the street.

67603329135, reduce the noise created by traffic on the street.

67603329136, Calm the residents of the neighbourhoods to curb their aggressive nature.

Question Number : 104 Question Id : 6760337942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In many Dutch and German cities, residential streets are now places where cars must give
ways to pedestrians. In these traffic calmed areas, residents and visitors accept the view that
the function of streets is not merely to provide mobility for cars. Streets may also be used for
walking, cycling, playing and other social interactions. One of the most important aspects of
these streets in the range of “traffic calming” initiatives, aimed at reducing the volume and
speed of traffic. These initiatives lead to several positive effects on children’s social
interaction. Recent research has demonstrated that children in German cities have significantly
higher level of freedom to travel to places unoccupied by adults in their own neighbourhood
than children in other-cities of the world.

One of the main purposes of “traffic calming”, as understood from the above passage is to :

Options :
67603329133, calm the children playing on the street.

67603329134, reduce the speeds of vehicles on the street.
67603329135, reduce the noise created by traffic on the street.

67603329136, calm the residents of the neighbourhoods to curb their aggressive nature.

Question Number : 105 Question Id : 6760337943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In many Dutch and German cities, residential streets are now places where cars must give
ways to pedestrians. In these traffic calmed areas, residents and visitors accept the view that
the function of streets is not merely to provide mobility for cars. Streets may also be used for
walking, cycling, playing and other social interactions. One of the most important aspects of
these streets in the range of “traffic calming” initiatives, aimed at reducing the volume and
speed of traffic. These initiatives lead to several positive effects on children’s social
interaction. Recent research has demonstrated that children in German cities have significantly
higher level of freedom to travel to places unoccupied by adults in their own neighbourhood
than children in other-cities of the world.

As per the above passage, the “traffic calming” initiatives have impacted the children in
these neighbourhoods in terms of :
Options :

67603329137, enhancing their cognitive skills.

67603329138, making them independent from parental control.



67603329139, calming them.

67603329140, increasing their mobility and social interactions.

Question Number : 105 Question Id : 6760337943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In many Dutch and German cities, residential streets are now places where cars must give
ways to pedestrians. In these traffic calmed areas, residents and visitors accept the view that
the function of streets is not merely to provide mobility for cars. Streets may also be used for
walking, cycling, playing and other social interactions. One of the most important aspects of
these streets in the range of “traffic calming” initiatives, aimed at reducing the volume and
speed of traffic. These initiatives lead to several positive effects on children’s social
interaction, Recent research has demonstrated that children in German cities have significantly
higher level of freedom to travel to places unoccupied by adults in their own neighbourhood
than children in other-cities of the world.

As per the above passage, the “traffic calming” initiatives have impacted the children in
these neighbourhoods in terms of :

Options:

67603329137, enhancing their cognitive skills.

67603329138 making them independent from parental control.

67603329130, caImmg them.

67603329140, increasing their mobility and social interactions.

Question Number : 105 Question Id : 6760337943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In many Dutch and German cities, residential streets are now places where cars must give
ways to pedestrians. In these traffic calmed areas, residents and visitors accept the view that
the function of streets is not merely to provide mobility for cars. Streets may also be used for
walking, cycling, playing and other social interactions. One of the most important aspects of
these streets in the range of “traffic calming” initiatives, aimed at reducing the volume and
speed of traffic. These initiatives lead to several positive effects on children’s social
interaction. Recent research has demonstrated that children in German cities have significantly
higher level of freedom to travel to places unoccupied by adults in their own neighbourhood
than children in other-cities of the world.

As per the above passage, the “traffic calming” initiatives have impacted the children in
these neighbourhoods in terms of :

Options :
67603329137, €nhancing their cognitive skills.
67603329138, making them independent from parental control.

67603329139, calming them.

67603329140, iNcreasing their mobility and social interactions.



